
20
CIGARETTES/JOUR
pendant

50ANS

consommation d'électricité 
d'un ménage moyen
en Inde pendant
près de 15 ans

5x plus
d’épuisement
d’eau qu'un
consommateur
moyen de 
viande rouge

1,4
MILLION

DE LITRES

émissions
annuelles
de 3 voitures
(13500 km/an)

1,3
TONNES

équ. pétrole

ENERGIE
EAU

5,3
MILLIONS

D’HECTARES
au détriement
de CULTURES

VIVRIÈRES

TERRES
CULTIVÉES

équivalent pétrole

soit la
consommation
totale d'énergie
primaire DE LA

NVELLE-ZÉLANDE
ET DE LA HONGRIE

21 MILLIONS
DE TONNES

ÉNERGIE

      MILLIARDS
      DE TONNES55

d’eaux usées

22 200
MILLIARDS
DE LITRES

EAU

27,2
MILLIARDS

 DE TONNES
            MILLIONS
            DE TONNES24

de déchets
solides

RESSOURCES
MATÉRIELLES

CULTURES
ET DESSICATION

MANUFACTURE
ET DISTRIBUTION

CONSOMMATION 
ET DECHETS

(1)

(2)

(3)

Sur 󰇰'en󰇷󰇪󰈩b󰇰󰈥 󰈨e l󰇧 󰈛󰇭󰈜îne 󰈧'ap󰇴󰈦󰈢v󰇯󰇷i󰈢󰈡n󰈥󰇲e󰈡t

LES IMPACTS SUR
L’ENVIRONNEMENT

(pour 2014)

Sources :
(1) https://www.revmed.ch/RMS/2019/RMS-N-669/Impact-environnemental-du-tabagisme#B16
(2) http://www.imperial.ac.uk/news/188406/cigarettes-have-significant -impact-environment-just/
(3) https://pubs.acs.org/doi/10.1021/acs.est.8b01533
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